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goETRal & fory @ A5 —
GENERAL INSTRUCTION TO THE EXAMINEES:

1.

qeTeft FIueH U U U WR A Afarid: ford |

Candidate must write first his/ her Roll No. on the question paper compulsorily.

2. W U oA Afart 2|
All the questions are compulsory.
3. UXP U BT SR &l g IR GRS § & ford |
Write the answer to each question in the given answer book only.
4. 59 9ol # omaRe @S § 99 9l & IR TS A1 B fordd |
For questions having more than one part the answers to those parts are to be written together in
continuity.
(@os—"31")
SECTION-A

1. FfaRad o=l & SR BT FE1 Aoy a9 BR ITRYRADT H oIy |

Answer the following question and write them in the answer book by choosing the correct
option:

(i) 9qa™ H eRuer srae H fha 9aw § ? (1)
@) 117 @) 116
(|) 120 () 115

At present how many members are there in the Non-Aligned Movement?
(A) 117 (B) 116

(C) 120 (D) 115

(if) IfeTT BT AR @S B T ol — (1)
(31) 1961 # @) 1971 #

(d) 1951 H (]) 1981 #

The wall of Berlin was constructed —

(A) In 1961 (B) In 1971

(C) In 1951 (D) In 1981

(iii) AT Hefd & — (1)
(1) |® (@) SR

(w) s (=) T



‘SAFTA’ is related to —

(A) SAARC (B) ASIAN

(C) OPEC (D) UNESCO

(iv) foa oy sfeexr @ifell 9 |ifdaa 99 & 91 99 a9 & forg onfa, fBaar don daganT
I A IR TEER By 97 (1)

(1) 1977 # (@) 1972 ®

() 1947 H () 1971 #

In which year Indira Gandhi signed a 20-year Treaty of Peace, friendship and cooperation with
the Soviet Union?

(A) In1977 (B) In 1972

(C) In1947 (D) In 1971

(v) Rd & g IR # e &1 S A oA Sad FrefeiRad 4 | di—
fooR  enfAer 81 or? (1)

C)RERINE] (@) STRIHIT

(:H) ATHRNI Wl (?{) IR IR

Which of the following ideas did not form part of the early phase of India’s development

policy?
(A) Planning (B) Liberalisation
(C) Cooperative Farming (D) Self Sufficiency
(vi) NIREA & R’ BT FaeT fhd I5a 3 7 2 (1)
(an) feeelt (&) o
(@) R (]) uTE
‘Operation Blue Star’ is related to which State?
(A) Delhi (B) Gujarat
(C) Haryana (D) Punjab
(vii) TRT # 'R fUwST o RN & 3eae B o ? (1)

(@) ARRSH T8 (d) BIBT Bloladd ATRd
() & 91 " (3) red HEal

Who was the Chairman of the ‘Second Backward Classes Commission’ in India?

(A) Morarji Desai (B) Kaka Kalelkar Saheb
(C) B.P. Mandal (D) Ashok Mehta

(viii) T J& & A FRS! AR AIIIT TH BT A9 FI9 Ugel Bbal g a1 ? (1)
(a1) Wl (@) TR

GIRSEIED] (]) ofereT SmRa®T
Where did the division of the American and Soviet Camps first take place during the
Cold War?

(A) Asia (B) Europe

(C) Africa (D) Latin America




(ix) 9 | wETSTaral shifd fbd oy gg ?

(@1) 1915 (@) 1916

(|) 1917 (%) 1918

In which year did the Socialist revolution take place in Russia ?
(A) 1915 (B) 1916

©) 1917 (D) 1918

(x) W UFasla AT BT Uy e a9 ST g or?
(31) 1948 @) 1949
(9) 1950 () 1951
In which year was the Draft of the ‘First Five Year Plan’ released?
(A) 1948 (B) 1949
() 1950 (D) 1951
(xi) TS TeR & ' WR 1956 H foicd o fhd <91 R gHen fHar o

@ wm (@) f
@) wF (@) gl
Which Country Britain attacked in 1956 on ‘Suez Canal Issue’?
(A) Iran (B) Egypt
(©) Iraq (D) Turkey

(xii) ‘APET D RIS HIF A7
(@1) TeRY TR R (@) STaU®IeT ARRI0T
(@) ARRSH 8 (]) e HEdl
Who was the founder of “ Lok Dal” ?

(A) Chaudhary Charan Singh (B) Jai prakash Narayan
(C) Morariji Desai (D) Ashok Mehta

2. Rea i @ gfd sifog—
Fill in the blanks:
(i) =T 3T A9 & STRINERI & B H oo DI AU Bs |




(i) IRT = AT H U URHATY] YRIETOT fHAT o | (1)

India First tested a nuclear device in .....cooeeeveveveeeeesseeeenenn.

(iii) 1957 H oo I8 H IRA HRIFRE U1t &) 3RS # U T3§eT WRaR a1 | (1)
In 1957, a Coalition government was formed in state of .........cccoceeeee. under the Leadership of
Communist Party of India

(iV) T B o Hgh ICHE & Ugel Herded a1 of | (1)

Norway’s ....ccceeeeneee. became the first Secretary General of the United Nations.

(V) J— ghad § Haied IR 1 bael AR o & e &1 ve gamal aren & | (1)
Inthe ............ case the Supreme Court had ruled that the Constitution has basic structure.

(Vi) T H “IHA® BT TS AT T | (1)

BAMCEF was formed in the year ......ccccccceveivennne.

3. SAfTTERNIAS YT—

Very short answer type questions-
(i) ‘e SRUT BT wMfeqd aref @ 87 (1)

What is the literal meaning of ‘Shock Therapy’?

(i) fp <=0 &1 SHRN FFRT & < FHEl A © 2 (1)
Which countries are called ‘Second World Countries’?

(i) a9 @ faged &1 it iR Aaifed dihifeld HRUT S9N o7 ? (1)

What was the final and most immediate cause of the disintegration of the Soviet Union?

(iv) FGa Il & IR’ W B QT A o ? (1)
Which Countries were included in the ‘Commonwealth of States’?

(v) TIHAT ITsg BT 7 AT 87 (1)

What is the meaning of the word ‘Hegemony’ ?

(vi) SITORIE SXTHT WIeH T o ? (1)
What was ‘Operation Iraqi Freedom’?

(vii) "HRIICT UICThicl Dl 1ed a7 T ? (1)

What is the goal of the ‘ Kyoto Protocol’?

(viii) ‘faeg @) AN HUST &1 MBR g & al BN §dig ? (1)
Give two reasons for the dwindle in the size of the ‘Common Property of the
World’?

(ix) ‘fasa GmafSTe Ja° @& dRiedl [haal fajy &)d g ? (1)

The activists of the World Social Forum oppose whom?



(x) ‘3MfSTh ATBROT BT Ueb oY foTRag? (1)

White One advantage of ‘Economic Globalization’?

(xi) ‘TS fARTET 3METeAT’ &7 ART a7 oAT? (1)
What was the slogan of ‘Anti arrack movement’ ?
(xii) ‘gfera Yo' =1 o9 | g Io1g? (1)
What issues did the ‘Dalit Panthers’ address?
Yrs—4q
SECTION-B

T[T T2 (STR AT ST 50 &g ):

Short answer type questions (Answer limit about 50 words)

(4) 9 2003 ¥ FMR®T D ERI P R I 8 & &I AHAS 919 | 1+1 (2)
State two motives for the military attack on Iraq by the America in the year 2003.

(5) MRT 3R U & 74 fadre & HIs &I Ge 9a | 1+1 2)
Mention any two issues of dispute between- India and Pakistan.

(6) WIRA B FeAT VI & PIg &l T I | 1+1 (2)
State any two components of India’s security Strategy.

(7) ‘Herardl’ | MY R G 27 2)

What do you understand by ‘Indigenous People’?
(8) Jzdiepxur # Hrenfires &1 @ ATe 22 )

How has technology contributed to globalization?

(9) WIRA 3R ¥ & AL WEANT & &I &F 9w | 1+1 2)

State any two areas of cooperation between India and Bhutan.

(10) WRA & HY<H I DI FRET URYS B A5 FSIAT & G § a T QIorg | 141 (2)

Give two arguments in support of India’s permanent membership of the United Nations
Security Council.

(11) YR 3T FATT BT Wl I & [y FATT SANT & PIg &l BRI 9amg | 1+1 (2)

Mention any two functions of the Election Commission to make the first general election
Successful .



(12) MR IO H SI—9ger F 9 T FHST & 7 (2)

What do you understand by ‘Defection’ in Indian Politics?

(13) 1960 @ TP BT ‘WARHATD D R BT oIdl & 2 2)
Why is the 1960’s decade labelled as ‘Dangerous Decade’?

(14) wfZettall 7 ‘Rue®! AR d 69 YR Al RieRT F¥1g, 9dqmg? (2)
How did women- take active part in the ‘Chipko Movement’?

(15) YRA # QAR & oAl § Ao # B g BT W B 2 (2)

What issues have been dominating politics in the states of the Northeast in India?

(16) wfIs nale™ ‘&I WG AW P off ? )
What were the main demands of the ‘Dravidian Movement’?

Yls — ¥

SECTION - C
ATel SR U9 ([TR GHT FIET 100 ¥7<R)

Long answer type questions (Answer limit about 100 words)
(17) "RA ¥ 950 &3 g9 Aol &5 H AegH A7 MU 747 |7 9 $UF WR 370
faR e BT | @3)

“In India middle way was adopted in private versus public sector.” Express your view on
this statement.

(18) SHIHT—TRATE THdT BT 9gAT a7 & oy WRT ERT fhT U Tl Bl Sootd R | (3)

Mention the efforts done by India to promote Afro-Asian Unity.

(19) fre1 SR | a9 1980 # HeATAS FATT HRA US? (3)
What were the reasons which led to the mid-term Elections in 19807?
(20) Hee AN B W@ FRAHIRE g | (3)
What are the major recommendations of ‘Mandal Commission’.
YUls—q
SECTION-D

Feearere ue ( STR AT T 250 91])
Essay type Questions (Answer limit about 250 Words)

(21) ‘HMcgg’ 1 31, SRR UG 59 H 9RA B YHBT B ool BIY | (4)

Describe the Meaning, Arenas and Role of India in the ‘Cold War’.



3qdr/ OR
TEfRUETAT &1 3fef qa1sY Ud 39 ¥ gg b |HIA &I gargdr bl gArl b ghR o1 ?

Explain the be meaning of ‘Non Alignment’ and how it challenged two polarity during Cold War.

(22) &FRT TSI BT G BT eI FT § 2 IMRIAE ST dY AT UG g fasr=
2020 BT I 91 AT E, IASA? @)
What are the objectives of establishing regional organizations? Establishment of ‘ASEAN’ and What
are the components of the ‘ASEAN Vision 2020’?

310471 / OR
Jhfouds ofdd ds & ®T H U TIEHR] © | 9T & Jqegq I W HIY |

Japan is effective as an alternative centre of power. Explain through facts.

(23) ke fauror & aRvmH R o e | (a)
Write an article on the consequences of the partition of India.
371d1 / OR

ISATS! @ A R WRAR & A9RT R g faIRau |

Write an article on the government’s view on the integration of princely states.




